(1) + (1)1 9] 2 (w2 S

@D 0 ® -1 A 1



x—y=1% WHops BE A xyol oo
ay? +by+cl FAADL W, a+b+c 2 27

@1 @2 ®3 @4



ax> = (2a+c)x-1= (b-2)x> + (b+c)x — c7F x 9 Fkel

I
Hlo

W, a+b+co 727

— |

B -

|

— ™



Ha(x+1)+b(x—1) = x+3°14 a, b} & T3}



A 32 +5x =a(x-1)2+b(x+1) +c7}F x| TR FS40] HEF
Sh= &4 a, b, col St a + b - ¢ 9 F& Fohofeh

S ER
=



10002

S X))

2522 — 2482

@® 62500 @ 1000 3@ 500
1

@ 250 6 =



(x+3
)(x+
2
) =(x+3)x+
(x+3
)x2

= (x2 +
3x) + (2x +
6)

X + x+2x +(;

$2
+5x+6

Eut
oA At

_—
J

B/

A

3¢l

—

,X_l

L,

__OH_
w
8

G
o
el

—

;&l
Gt

m
i
i~

Gl
o
E!

N
s

__OH
W

—

__A_l
i

jant
]

~
s
o
E
,X_l
s
jang

i
~8

e
Tot

W



8.

2x' =34+ 242 + a5 x? + x+ 12 o] oA s
= ok

@D -3 @ 3 3 —6 @ 6



+2x + 3x% 4+ 4x%)3, (1 + 2x + 3x% + 4x% + 5x1)3 9] &°

Zta, bt S o), g - p O] FHS FSHA?

® -15 ® -5 @ -1 G 0



10.

2x + 3a

1 7} off #AIgle]l A FS 71d o, a9 S
X
1
o} __
(L’” 2)
1 1 1
D1 @ 5 ® 3 @ 1 ®

S5t

| =



11.

xOf TSt AAFA] x84+ ax® + bx+30°] x2 +1 2 WrojEojd uff, At
a, bo] 3f= AstH?

D a=-1,b=3 @ a=1,b=3

® a=3,b=-1 @ a=-3b=-1

® a=3b=1



12.

B 42=(x+1P+alx+1)2+b(x+1)+c 7}
a+b+c 2 =AY

@D 0 2 1 3 2 @ 3



13, f(x)8 x— 12 s 0 4olZ7} olc. &, o]ffo] 52 x4+ 308
e Lol 217} 2019 £(x) S 2+ 20— 3. 0.2 L olA1 2 patolat.

e =
-



14. o9& T 2 +y* +2xy - 2x -2y 9 157} opd A2

@®© x+y @ —x-y ® x+y-2

@ x-y ® 2x+ 2y



15. o F x(x+1)(x+2)(x + 3) — 24 9] 141 227

@ (x-4) @ (x+1) ® (x*-3x+6)

@ (x?+3x+6) ® (x2-3x-6)



3(b—c)+b*(c—a)+c*(a—b) 9] 157} oF

@ b-c

® a-b+c

® c-a

g

A

[e]
—

?



17.

A A% a, b e7hehE Al 2208 BETI,

a+b+c=1, ab+bc+ca=1, abc=1

ol W, (a+b)(b+c)(c+a)l] F2?

D0

1 3 2 @ 3




1 1
18. ¥+ < =14(x>0) 2 o, x* + = o] F2?
X X

@D 36 ® 44 ® 52 @ 68 ® 82



19. © 418 2042 RS ), 52 0(x), HHIAE R(x) B 5,
o, R(2006) 2] Zt-& 5kl et

e =
c



20. a-b=1+4ib—-c=1-iQ W, a®>+b%>+c?—ab-bc—ca® 27

D 0 1 3 2 @ 3 B 4



5

T O x? 4 4dx + 269} x% 4 3x + k9] FHFFsIE xof of



22. xof T3 A O]tk A(x) = x* - 10x2 +9, B(x) = x* — x> - 7x% +
x+6,C(x) = x(x = 3)(x* +a) — (x = 3)(x® + b) + 8 2] HRZAF7}
oz W, a + b 9] F2?

@D 4 @ -4 B 8 @ -8 B 2



23. o I"3 Zo] A9 dojrt 3o]a Zylo]7t 16, F1 7t 6 <1
2 GHAZE et o] A& ﬂAﬂilﬁiiﬂ%—1¢zbcﬁ
St o], a3 + b3 + ¢ 9 G227

D 12 ® 18 3 21 @ 923 3 30



a?+ b2+ g(l
3

1
LTy e o] 7Zro
a3+ b3 +c3 T )47'“2

24. a+b+c=0, abc# 0L, b

Fatelet.

Yk
=¥



25.

oL 3|Ate] A5 BEFAE 42t RYE<} AnAE THEL
At hFo AFHANA = RUEHE 400, B3 Fol = ATAE
10000 tf TH=C}H, Y E = 20000 W, 23] 7= 80000 7t THE-o] A H
BA R utgit), F AlFo] 2 g o] 2RtEH Qo]

FZ5to] A3t A QIS Eotofof ghtt. o] mf, -8 3] Afef A
FHA-L 50,000, FEofl= 70,000 Y2 A=} 2008 49 1Y
599 Ao2 HYEE, tag A0AE 56lth 20089
AG7A] G A 3|ALo| A A& FH-S Fotofzt,

o 2



